Dr. Bryan Carrillo Knowledge Checks Chapter 4.1

1. Determine which of the following functions are even, odd or neither:

a) f(z) = 2%+ cos(z) b) f(z) =2+ |z| +z c) f(x) = z*sin(z)
$ (%) = (-X) + o5 () FEN=0 1+ 00 FEx) = (N SinE0
- ¥ 4 cos o) = x4+ X -X%. = X4 Esinex))
- ’ This is neither £ tor = - Xsintx)
This is §, meaniag +hat . -f-l ==-§£x) .
_ xomple - ‘e e o eani tha
.F(-x) - de' f)= ettt =3, This 15 f’ " nng
So § is even. Pei)=Esal-122 Fex=-$09,
T So fis odd.

So §£0) ¢'FL'|\
nov
$-ng-FO)

so I is neither
even nor odd.-

2. Take f to be a function that is even. Part of its graph is shown below. Sketch what f looks like
for values of z that are negative.
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3. Take f to be the function that is given by
f(a) = o —3|.
Determine a vertical line L so that reflection of f across L is equal to f.
The reflection OF -f across x=3 is ; Visual

4. Take f to be a function that is given by

flx) = |z = 3]

Determine a vector (a, 0) so that (a,0) + f is an even function.

Toke V= (-3,0%, Then,

(‘3,0> + £= 3,00+ {(x, 1x-31) : XE RS
= § (x-3,1x-31) : X eIR§ Take
= {( 1) e RS
=]

Where g (x)=Ix\. This function is even.
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5. Take f to be a function that is given by

flz)=(x+2)|z+2] - 1.

Determine a point p so that rotation around p by half a circle equals f.

Ro'\'a\’inj £ aromd (-2,-0 by hatd a circle is .

6. Take f to be a function that is given by

flx)=(z+2)|lz+2| -1

Determine a vector V' so that V' + f is an odd function.

Take V= {2,1), Then, -

\/-1-; =<{2,\Y + {(x, (x4 x+al =1): X € 'R}
={(x+z, (x+2)Ix+2)) : Xe \R}
£ 00, 1%1): v-2¢ RS

=9
Where JOD=x1xl. This function is odd,
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